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WHETHER COMES
OR NOT

Sarala! Keep this book with
you. I will take it later. You
had fever (I learn). Hadn't
you?

Yes. How did you come to
know? Take this coffee!

Your brother told me. Oh! The
coffee is very hot. My tongue
got burnt. Why did you come
to the class with fever?

Time won't pass at home for me.
Is the result of your brother's
examinations known?
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It is not yet known. It will be
known tomorrow.

Inform me after it is known. Did
he write the examinations
well?

Who knows? I am not certain
that he would pass his exami-
nation even this year also. He
did not have enough time to
prepare for the examination.

Why?

He has many avocations. The
time is not sufficient even for
wandering around. How can
he find time for reading (his
books)? Now my father is
not allowing him to go out.
He gets bored at home. He
doesn't let me also study. He
took out some of my books
and hid them somewhere. |
ask him for those books. But
he doesn't give.

Why have you bandaged your
finger?

While I was cutting brinjals the

knife being very sharp cut my
finger.

Is your mother not in town?

It is my job to cut vegetables
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DRILLS

a. Repetition drill
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whether my mother is home or
not. The job of cooking is
my mother's.

The teacher taught us a new
lesson yesterday. I could not
follow the lesson even after I
read it several times.

Let us study (read) together.

You can understand the lesson
on listening itself. You don't
have to read it later. Did you
get the poems by heart?

I know one poem already. I
couldn't get the other poems
thoroughly.

Didn't you get them? Why do
you hid (the fact)?

Why to hide? Didn't you also
get them?

I read them well. But I couldn't
get them by heart. I have to
read them some more times.
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b. Substitution drill
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c. Response drill
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d. Combination drill

Model (i) 3% 2038 FEpT$. 0T ) oBED.
% 2088 ST 1) TB.
1. 3% JE0 T BHTR. 0T WFoTBED.
2. 8w 888w B3BD0B. GowT MO TSLOBED.
3. N0 TawdHd ST, WONT WVREOMED SEFd.

Model (ii) 3% 20e38 ésﬁo&ééﬁm. @0 38 ST
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1. 3% F6o T WESBE.  ©ONT WFO e000H.
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e. Conversation drill
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f. Transformation drill

Model (i) Model (ii)
36) SdosrgEe (o @t DSETYH?
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3. 09) o35 008 &ode Aw? 3. % &330@5@;5.)@ 0.

EXERCISES

a. Fill up the blanks with the concessive forms of the verbs given in
the parentheses.

1. A5 OO e (850) $08) w5 eYHBHB.
2. TGE8 & DAONO e (Beoo) TH DB,
3. A5 TGO v (Sc09) $8) SSSBEST .

4. T e (395) % NG

b. Combine the following pairs of sentences using the concessive
forms of the verbs.

1. %C%é.) & Q00 BOCHL.  WONT WS I GEABED.
2. 2080%H HOES Bw TS, ©ANT 2T TROR.

3. VUL ORI, WONT VYL WMWK ST

4. SFQEME TG HTNK.  WONT VYO (kS DTN
5. T &G sy B, @00 3% 8 ediSD.
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c. Answer the following questions in negation.

356 STw?
TS,
1. % ey wendodm?
2. Y T YT O TTT?

3. A wod &S ERH?

4. 508 000D V% T BOVOT?
5. 60 ) VoD Bwre?

6. ©& Q¥ Bock 2FY) SROT?

d. Rewrite the following sentences as shown in the model.

Model
Ya¥ eOTEO.
Yo% QTGO
1. 3665 & Dorf& 3O0b.

2. 58) eI,
3. DoSGH ke TOE0SSE.
4. Q PJ%o I T,

e. Give the negative forms of the following words.

1. 55{’335" ). G
2. z,%aﬁl ). S
3. 3&EDT X e,

4. 30> X

VOCABULARY

(NS to keep in a secret
place; to hide (v.tr.)

S[o) mouth

S50 to be able to while away

the time; to have a
feeling of time pass-
ing normally

Bese result
[CS)

overvy though; although; even
though

Qa3g0 belief

geoen to move (v.intr.)

SS0M to cut (vegetables)

INlolecy) to cook

2350 a poem
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Lesson 53
GRAMMAR NOTES

53.1. In this lesson the concessive forms are introduced. -23°/-¢3/
-0 -ind/-a/~yina is added to the verbal base to form the concessive.
Concessive form — Verbal base -a<°/-e3/-00% -ina/-a/-yina
53.1.1. —-0& -yina occurs with the verbal bases & poand compound
bases ending in & po.
&-o0T pO-yina 'though someone goes'
QEP-aw  nidrapo-yina 'though someone sleeps'
53.1.2. -¢ - occurs with the @30 anu group of verbs (23.1.) and ¢

padu'to fall' (38.2.). These bases undergo similar changes as they do before
the past adjectival participle marker - -a (41.1.; 28.7.; 38.2.).

D + @ ot =oT) (287) 'though someone/
anu +a = ann-a somebody say(s)'
QS N+ e = JonR)+es = Jeoyr)(28.7.) 'though someone/
nilco +a = nilcunn-a somebody stand(s)'
GO + &8 = G+ =wo) (28.7) 'though someone/
uMdu + a = unn-a somebody stay(s)'
Ao +e =d5+e =2 (382) 'though someone/
padu +a = padd-a somebody fall(s)'
53.1.3. - -1na occurs with the other verbal bases.

D + A= G (2.12.2) 'though someone/
adu + ina = adina somebody play(s)'
QBN+ For= ©&EA-aT = ©&AT (28.6.;2.12.2.) 'though someone/
adugu+ ina = adig-ina somebody ask(s)'
o + [T = I0)-JT = SO (28.5)) 'though someone/
a +Ina = vacc-ina somebody come(s)'
AP + A= JW)-_Y = A (33.6) 'though someone/
vvu +Ina = icc-ind somebody give(s)'
& + g =308 =3V (354.1) 'though someone/
e + Ina = lecc-ina somebody bring(s)'
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TON + Y= Te-a> =0 (28.3.) 'though someone/
1ayl  + Inda = 1as-ina somebody write(s)'
) + Y= SO (2.12.2) 'though someone/
marcu+ Iina = marc-ina somebody change(s)'
g0 + Y= $O-x7 = 5OV (33.3) 'though someone/
kalus + ina = kalis-ina somebody meet(s)'
IR + A= IGH-T = S&IT (33.3)) 'though someone/
naduc + ina = nadic-ina somebody walk(s)'
ST+ AT = E)-AT = & (34.6.) 'though someone/
aduc + ina = ddcina somebody sweep(s)'

53.14. Recall that the past adjectival participle is formed by adding -2/
-9 /-0 -ina/-a/-yina to the verbal base (41.1.). Notice that the concessive
suffix and the past adjectival suffix look similar except the length of the final vowel.

Past Participle Suffix Concessive Suffix
-3 -ina -/ -na
- -d - -a
-o0S  -yina -QOT  -yina

Therefore in the formation of the concessive forms the verbal bases undergo
similar changes as they do in the formation of the past adjectival participle forms.

Base Past Adjectival Participle  Concessive

& po 'to go'  Pad  poyina QPaw  poyina
WY caduvu 'to read’ VOIS cadivina  NSOII  cadivina
§¢& ko u tohit! §ES ko ina S{ey ko ina
ocao  rayi 'to write! TS rasina oo 1asind
dowg  ceyyi 'to do' DRI césina DR césina
o°00 cipiMcu'to show' <S5~000S cipiMcina S30O0S cipiMcina
SNV konu  'tobuy' &) konna § konna
&8 tisuko  'to take' @Kwé&é‘l tisukunna @“@Jé&ﬁl tisukunna

o a 'to come '555335 vaccina 555)35” vaccind
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Lesson 53

53.2. The negative concessive form is formed by adding —es$*an>
-akapoyina to the verbal base.

T + ST = FEEFan>  (2122)  'Though /someone/some-

padu + akapoyina = padakapoyina body does/will not sing'
T + Py = TSI (3.13.1)  'Though /someone/some-
13 + akapoyina = rakapoyina body do/does/will not come'
RVOVD + OETFANT = VOSSP (33.3.;34.3.) Though /someone/some-
piluc + akapoyina = pilavakapoyina body do/ does/will not call'

HH0 + EPFanT = HSSEFFoT (333.33.5.)Thoug it does/will not rain'
kurus + akapoyina = kuruvakapoyina

S0P + ETFanT = SSEPFaw(155.1)  'Though /someone/some-
caduvu + akapoyina = caduvakapoyina body do/ does/will not read'

53.3. @0 calu 'to be enough' (17.2.) and &0l felusu 'to be known;
to be understood' (37.6.), introduced as defective verbs, are also used in
various tenses and other formations.

BOOW + AN~ = dLoRNH® (53.3.1.) Tt is being known/under-
telusu + tunna-di = telustunnadi (present tense)  stood'

BOOW + RO-& = 3DV (2.12.2.; 28.6.) It is/was known/under-
telusu + iM-di = telisiMdi (past tense) stood'

BO0W + Ho-& = dwonod  (53.3.1)) Tt will be known/under-
telusu + tuM-di = telustubldi (future tense) stood'

B + Y = @@fgo (2.12.2.; 28.6..53.3.1.)'if known/understood'
telusu + ité = telisté (coditional)

B0 + _/I = 3OVI (2.12.2; 28.6.) " that/those which is/are
telusu + ina = telisina (adjectival participle)) known/understood'
BOOW + Y = 3OV (53.3.1.) 'though known/under-
telusu + ina = telisina (concessive) stood'
T+ Eo-& = WROL (32.9)) Tt will be enough'
calu + tuM-di = caltuMdi (future tense)

T 4+ Q0-& = TOOK (2.12.2) it was enough'

calu + IM-di = caliMdi (past tense)

T + QT = TOT (2.12.2) 'though it/they is/are/
calu + ina = calina (concessive) was/were enough' etc.
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53.3.1. The vowel 9 7or & uoccurring between the consonants © s and
® to is dropped. See for a similar sandhi process in 32.9.

BDW + HDOL = SR Tt will be known.'
telusu+tuMdi = telustuMdi
B0 + 9@ = 29—y = 8O (2.12.2.;28.6.) 'if it is known'

telusu + ité = telis-té

53.3.2. @00 felusu changes to @90D- teliy- when followed by a suffix
beginning with @ aor & a.

B0 + @90 = BDOD-wLo = ddcHeo 'knowing'

telusu + a aM = teliy-a aM (gerund)

2O0HL0BED 't is not being known.
teliya aMlédu (present negative)
B0 + 8O = 3OO "It should be known.

telusu + ali = teliyali (obligatory)

534. The <® cuending verbal bases are introduced in this lessons. They
are <%0 dicu 'to hide something' and &5 focu 'to know what to do; to be
able to while away the time'. These verbs change their final <% cuto & swhen
followed by a suffix beginning with & for & d. And it (the final <% cu) does
not undergo any change before other suffixes. The verb &0 focu takes a
DATIVE SUBJECT.

OD8 20 &S 80000 (So+800-8).

raviki iM i daggara tostuMdi (tocu+tuM-di).

'Ravi can easily while away his time at home.(He does not feel boredom.)'
TH 208 G SW (Slo+e-). (27.1.)

naku iM i1 daggara tocadu (tocu +a-du)

T will not be able to while away my time at home. (I feel bored at home.)'
T + TR = T-T-D = TTD.

dacu + ta-nu = das-ta-nu.

T will hide (it)."
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TR0 + @O = . (27.1,52.122)

dacu + a-du = dacadu.

'He will not hide (it).

T + TO = To-To = @&-To = o (265.1.526.7)
dacu + daM = das-daM = dad-daM.

'Let us hide (it).'

53.5. The defective verb 5y vaccu (37.6.) is a form derived from the
verbal base T 14 'to come'. We can also have other related forms to 3250y
vaccu, as derived from the verbal base T ra.

D DITgEd SN

niku padyalu vaccu.

"You got the poems by heart.'

LS SIS DTrgen (past adjectival participle 41.1.)

niku vaccina padyalu

'the poems you know/got by heart.'

T & VG50 TBE; TG8 SO0b. (past neg. & past tense 29.2.; 28.5.)
naku a padyaM ralédu; vadiki vacciMdi.

'T did not get that poem by heart; he got it.'

53.6. The oblique base of SE> noru 'mouth' is ¢ 16 .
S8 no iki 'to the mouth'; SBS& no ito 'with the mouth', etc.

53.7. - ga is a shortened form of —-A&| gada 'Isn't it?', which is a
variant of —-8&) kada (the tag question particle, 9.10).

00 Shohdw /Ee°? 'The train came. Isn't it?'
railu vacciMdi gada/kada?
00 Syol? 'The train came. Isn't it?'

railu vacciMdi ga?
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